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INSTRUCTIONS TO THE CANDIDATE (985508 Sriiien)

(Read the Following instructions carefully before Answering)
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I. Scparate Optical Mark Reader - i didatc along with Question Paper

Booklet, Pleasc read and fnllnw[ﬂt?ﬂgsi:é\g:?:gj: 1;::.:1 Sh?it;{‘pmh:lwg:' lsljifm?:"m ma:kinug"glhn correct response.
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The Candidate should ensure that the Hall Tickct Number and Name of the Candidate arc properly

printed on the OMR Answer Sheet provided to you. The Candidates are further instructed to cnsure
that the booklet code printed on OMR Answer Sheet is same as the Question Paper Booklet

code supplied to you.
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©d SOErE BN, ol S35 a0yd LJowb 2w HiFo DG JoPodH wEDE FE, ad)d BTPEe
o8 SoBodd wEDY F8 w58 wonil I8 J0ErRTIsoH.

3. This booklet contains 100 Questions and candidates shall answer all these in 180 minutes,

G PSgo 208856 100 BHes dramon 06D e Hudoish 180 IS Trened FBoSSB.
One mark will be awarded for every correct answer, There are no negative marks.

SBS 20 2o ¥ Srdy Sronoddo alibded. Juded Hwrd)E Srdyw 3.

. Immediately on opening the Question Paper Booklet by tearing off the paper seal, please check
for (i) The same booklet code (A/B/C/D) on cach page, (ii) Serial Number of the questions
(1-100), (iii) The number of pages and (iv) Correct Printing. In case of any defect, please report to

the invigilator and ask for replacement of booklet with same code within five minutes from the
commencement of the test.
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6. Answers to the questions must be entered only on OMR Answer Sheet by co .
circle with Ball Point Pen (Blue or Black) only. y completely shading the appropriate
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7. The OMR Answer Sheet will be invalidated ifthe circlé is shaded uSing Pt 2. rp e o G0OSSBL.

$ign hturc-nmc Invigilator

shaded against cach question even with a small dot. if more than one circle is
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8. Change of answer is NOT Allowed.
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» The Candidates must fully satisfy themsclves about the aceuracy of 1 :
appropriatecircle of (1, (2), 3 or (4) in the OMR Answer Sheet with Blue/Black. Bajl prer G e
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is not permitted as the OMR Answer Sheet

» Use of Eraser or White Fluid on the OMR Answer Shect

is machinc gradable and it may‘lcad to wrong cvaluation NN Eendd M -
Sarergosio chogo wserdonm Sotud) Ses LJowsd maw D@0 385 @@5 e, 08
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9. The OMR Answer Sheet will not be valued if the candidate: £ o

. @ > g0
©58 Ldowb 2w HFon & HHS WO g5 ode sTmd@go Hrergos W
(a) Writes the Hall Ticket Number on any part of the OMR Answer Sheet cxcept in the space pro "

for the purpose,
LJoes aae Higod Srdodd EEYS 78 A%¢5E5845 Jowbio o g:aéaﬁ‘vﬂéa,é Fﬁﬁﬁi?;t
Writes any irrelevant matter including religious symbols, words, praycrs or any communication

so ever in any part of the OMR Answer Sheet, I
£.0085 s HF0D SHEHEWS DFe, Brres, fHtes, Ergien 550 ads wdonodRR HRTTEo
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(c) Adopts any other malpractice.
B0l SRSESH Feoydss.
10. Electronic gadgets like Cell Phone, Pager, Calculator, Electronic watches and Mathematical/Log Tables

are not permitted into the examination hall.
HOE Senes*E JinSods JH@EE 50508 BSm DEFS, wab, 5ONgILS, aﬂ@ag FHen, K38/l

a5 en oldododadd.
Rough work should be done only in the space provided in the Question Paper Booklet.
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Once the candidate enters the Examination Hall, he/she shall not be permitted to leave-the Hall till the end

(b)

11

12.

of the examination. ;
@D 2,E30 Hbs Hhens s 1HB00S Sod HOF DHocko SwAH SH wcdLB Hodad.

$3 . ; :
Ensure that the Invigilator puts his/her signature in the space provided on Question Paper Booklet and the

13.
OMR Answer Sheet. Candidate should sign in the space provided on the OMR Answer Sheet.
@l 83 PBTHgo 20EBED FronodS PET0S® HE5IEHN Bk, Sodko BRFISBH. ¥ord LIosd

2Tl ©if5d Sranods HBTed’ 88 Sodso BoIBR.

14. The candidate should write the Question Paper Booklet code and its serial number and sign in the space
- provided in the Nominal Rolls. > e
TNSS &S IoFoS PBFS” wifgh PTRE0 205845 56 HHdckn T (B Jopgd S0
(ToHBB Hobosw Q9IoDS Bd¥os* Sod¥o HoDSBR.

15. Return the OMR Answer Sheet to the invigilator before leaving the Examination Hall. Failure to retum the OMR
Answer Sheet is liable for criminal action and the result will be kept withheld. The Question Paper Booklet shall

be taken away by the candidate and should be preserved till the declaration of results.
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"NOTE: If any ambiguity arises in translations in any question, then the text/matter stated in English |

| version shall be treated as final, since the Question Paper Booklet is printed in two languages |

viz. English/ Telugu or English / Urdu.
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This booklet consists 0of 32 Pages including Cover Page and Pages of Rough Work.

E " & BTHEe 508 E58H°0HE Hockn 5 35, wded 00 32 Hédw 508 a5 8.

Il ]f‘“'l_l!!lﬂlllnwmmmnmm Y
L= T . |

L




) Booklet Code ‘ B

Time : 3 Hours Marks : 100

Instructions :

. 2 S 1 rksl
(i) One mark will be awarded for cvery correct answcr. There are no negative ma

V08 B8 2wk 3rdy, ronoido 2dibE0l. dénsod Lrrd)s S Co, 99

(if) Choose the correct or most appropriate answer from the given options 10 t!m foll s
questions and darken, with Blue/Black Ball Point Pen the corresponding digit (1)’.' @) C)
or (4)in the circle pertaining to the question number concem ed in the OMR Answcr Shect,
scparately provided to you.

BIDS aid 198 PHH as5waS ;S KOOI SErErHsNG JENFD A

@03 (1), (2), 3) B (4) Scom aS OMR SS0ES HGIWS* B Howo

dopghio 5)omd) dvo Bor Sewd =S Sonods DY &HBrHoN NoBHB.
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e —————————————

Y. The ratio of camings of A, B, C is 8:9:5. If the earnings of A 1S increased by 50%, the
carnings of B is decreased by 25% and the eamings of C is increa sed by 30%, then the total
carnings of A, B, C becomes Rs. 28,052.75. Now the increase in A’s earnings (in Rs.) is
A, B, Co Jordde 398 8:9:5. A Ay, Sods 50% w0, B ang) ;’aoé__:rcﬁhé 25%
8 Sooain C Gy, dodrds 30% oASY®, A,B,Co ogo HorsS & 28,052.75
wond, edyd AdoFrsds* DhBde (Ered’)

(1) 1,111 | (2) 2,222
(3) 3,333 (4) 4,444

2~ A company designed 100 triangle shaped metal sheets of the same size in orange, white,
yellow colors respectively in the ratio 2:3:5. The sides of cach triangle are in the ratio
3:4:5 and each of its perimeter is 48 units. If the costs of orange sheet, white sheet and
yellow sheet are Rs. 5, Rs. 2.50 and Rs. 4 per sq. unit respectively, then the total cost

(in Rs.) of all sheets is

28 08 238 Derdd 100 @0ersdd 'Y Voo, B0, dend), H0Y dobhos®
SEHDm 2:3:5 9@ S ErdEeyS BB, B8 @ebasn Do§, Hen 3:14:5 dGBS*
&amon $00ckn P8 iy Fod 48 chrdénrmr Gob. 008, Bend), DY Soid
TS0 pbd, af $.00rA5H, SHdm &, 5, & 2.50, 8. 4 vowd ©Y) THhe Rog),
ando p6d (driod?) ' ¢

(1) 63,000 | (2 36,000
(3) 12,000 (4) 21,000
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3. Ina college the ratio of boys and girls is m : n. If 35% of boys and 45% of girls got
scholarships, then the pereentage of students who did not get the scholarships is

o8 s8gcst E:“E'Jﬁ}, 2T O Eey ;}ﬁjﬁ m : n. T°8¢5° 35%, e, 45% 2roden ﬁﬁ?ﬁﬁélﬁﬂ
Fod8, $I5ERES0 FoER DTgHO TE0

(1) 13m+11n | 5 5(llm+13n)
m+n - (2) m+n
(3) 5(131:“+lln) (4) mn
1+Nn - m+n

4. - Ifx%of670is less than 17% of 770 by 17, then x = |
670 &* x % Dew 170 5% 17% 508 17 85,8 wond, @IV x =
(1) 17 (2) 23 (3) 15 (4)

5. Raja’ssalary was reduced by 20%. Then to get back his or; ginal salary the percentage increase
on the reduced salary, is

oee 280 20% SHotndod. wE ;'3155@ 280 80A Fodmr8, ShonsS ddo ";.g:n;,mﬁ;‘ie:-?aﬁ
TS0

(1) 20 @) 15 (3) 18 @) 25

6.  20% profit is earned by selling'a T.V. at 10% discount on the marked price of Rs. 50,000.
If discount is not allowed, then the profit percentage is

&r. 50,000 © BEBS S5 $ONS 28 S.9.0 10% B0l Bklo o 20% o
éﬂao&l-&maé«nﬁa a;’:ﬂséanﬁ' “o8 :SESJ ergTdo

1 4 7 | 1

3 2) 27— 3) 28— 4) 27—
(1) 333 | (P_) e (3) 10 (4) ;

7. X purchases an article for Rs. 2,000 and sells it to Y at25% gain; Y sells it to Z at p% gain
and Z sells it to T at 20% loss. If T pays Rs. 2,100, thenp =

X 28 5309 2,000 SrdrcfHerds §'0, 25%. orerd Y 8 E_:;’Joé_n", Y &0 pY% orers Z
% w8, Z 57 20% MR8 T 8 odoyodh. T 390058 &r. 2,100 eond, wdyd p=
(1) 1 (2) 8 (3 10 (4) S

—
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Amixture of 2 K Booklet Code B

&S of powder of s
S m:““’ POWder c!:f‘ Wdf’ : “r“"{ﬂ varictics A and B contains 10% of the varicty B. The
varety Bis arety B (in kgs.)to be added so that the new mixture has 25% of

Sge 5
© PEOD EOBS 20 Bestes DEHos* B skord 10 Eo0 ¢ob.
éﬁ ﬁﬁ.ﬁqu gan

o 58 §4 Dgsoos' B 680 25 PEo eH&od, o

(2) 2

10.

| 3) 3 @
__'-——-_________ ' t
Tw:.:: solutions of 90% a
purnity. The quantity (in

d 979 : g ‘ ;
;:tr;; jf?ﬁ:_-:?;;m mixed to make 21 litres of mixture with 94%
90%. 97% B 58 ons o purity solution in the mixture is

3 _
Fre aﬁ‘ﬁj " ) odh) @“:}Eﬁ'ﬂ.ﬁ-ﬁ) 595 94% :3515!;]?‘5 fe 21 lﬁ.)bg El::[fﬁ’n @‘;Sggg
0 3 | PER0S" 97% 5018 Ko (50 B0Se (Bogs’)

2.7 (3Y4.9 @) 12

gua_ntitj,r of liquid L, then the ratio of L,
» (in litres) in the final mixture is
Yoo DEsos® e O8 11: 8. od Kod

fo L, 8508 256 &% o
) Q ©YE L, Sobasw L., o
12 eHe0s. QR 9085 DFoost L l 5

2 .ﬁﬂ.ﬁ:-a-:.n {éhguﬁ"}
(1) 435 (2) 345 3) 365 (4) 285

Ong 11

11

Pipe A can fill a tank with chemical X i . .
. _ n 30 minutes, Pipe B with cheini : .
and Pipe C with chemical Z in 10 minutes. If all P ith chenical Y in 20 minutes,

: . the three pipes are opened at th ti
until the empty tank is full, then the ratio of the chemicals in the ﬁllljed tank isﬁmﬂlmE o

28 &rgofoidd A w3 P Srahdo X & 30 dos'sr, B o D) Srahde Y &
20 uos*Sr, Cod DY S3ahBo Z & 10 Des Sy VoMLY, 28 dHohos' © S
PIOD Y LrgodH Jod $6% 36D S0dd, Dodom &) 8 g’ ErchTe
D38 |

({} Lo | (2) 2:3:6 (3) 1:2:4 (4) 3:4:5
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(aster than the pipe A and 4 hours slower than the }:Jipg
11 the empty tank is equal to the time

12.  Apipe B fills anempty tank 5 hours
in hrs.) taken by the pipes Aand C

C. If the time taken by the pipes A and
taken by the pipe Cto fill the cmpty tan

together to fill the empty tank is s
2% Sormon Baf 9@ trgoi, Hmon A 0B 5 fotaen Snodrdy $08030 S0T70D
C €08 4 foboew He.:-;’;-gorm’n Josfedh. BoFrone A,B en Sodr EDm o 7 e.rsnéo;&:.

B together to fi
k, then the time (

aob B5o0sn, Cal 8 @ b trgosod doh HiaIrd8 Hir3d, ey HTEH
A 58050 C oo Bodr £0D & g7 &rgooidd DodT s ﬁ§ 445050 (Honews?)
(1 3] 23 Sl (4) 42 |
) %5 @ 7 @ *F 7
sk in

13. A can finish a task in 25 days working alonc 12 hours a day. B can finish the same ta
50 days working alone for 12 hours per day. A and B are employed to finish thq task.
B started the work and A joined him after two days. If B works for 18 hours a day and A
works for 12 hours a day, then the ratio of the parts of the work done by Aand B after 7 days

from the begining of the work is
A 283 2,8 DA S 12 Hobo TIPS B 25 Fared® Gro dohifeod. B 28,8 3

590 528 12 fobo TH9S B 50 Swes® 0 Bobiod. A $08e50 B © 33 &8
BoHE A8 dchDosamd. B & A Indoonds 2 Feve Shad A oddd S8
£&arch. B &% 18 Hobow 15'3'23’35 208050 A Gzrd 12 Hoboe ﬁ'ﬁjsﬁ el i."i'i:g, el
30denndd 7 Sro ShTE A 08N Ben T8 3 e 38 '
(1) 10:11 (2) 20:21 (3) 18:23 (4) 22:25

If 5 men can build a wall in 20 days, 8 women can build the same wall in 25 days and
10 boys can build the same wall in 30 days, then the time (in days) taken by a team of 2 men,

. 6 women and 5 boys to build the same wall is
5680 Hodoen 28 AEH 20 Sres™Sr, ©8 Fd 8 Sood ngm 25 e S SoBain

10 5008 arenth o8 g 30 Swrestss BEKONE, agd JHIe, 6HEH Rod
B08050 S et Ko 28 2t od AdS JBOBES 58 sroo (Beros’)
(1) 20 @ 10 . @ 12 4) 15

14,

}5./ If 17 persons in 17 hours can paint 17 identical rooms of size S, then the time (in hrs) taken

by 150 persons to paint 150 identical rooms of size S at the same rate is
17 006 Sg¥gen 17 Kobos*® e S &° dgedsrSomrio) 17 Khed o IcHhrdns,

150 S008 ©@8 Bind® T Sgigen S o £OAS 150 SEISrIDS Hcbosy Soibd
305a7d8 HBs~eo (fobves®)

. o om E 150 17°
(1) 150 @ 17 () 17 @) 1507

LT -B
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16. Sﬂ-ﬁzplgﬁ“"s P,QandR individually can complctea W
- started the work and left it after third day. T
complete the remaining work is
308> Sg8e0 P, Q 5080t R e 2,8 599 26
g BolKe®. Q,R e & 523 BoDod Sards Sewo d058 T 5e
WAL HAV P 8 Boheros ©5HE5chy e J0D§
(1) 14 (2) 11 3 92 - [ &
r

5and 12 days respectively:

orkn 20, 1 required for P 0

he number of days

oam seem 20, 15 $:00%0 12 G’
B DD ETE.

’h\

17. Atraintakes 25 seconds to cross a platform by travelling with a speed of 54 km/hr. Rupning
at the SAHnc speed, it takes 14 seconds to completely pass a man running at 9 km/hr o b
same direction of the train. Then the lengths of train and platform are respectively

(in meters)

Kodr%d 54 8.0, JK0s* HasrSod 280050 2,8 TP 8 25 nESen ddodod.
o8 Jfod® FD o BewSH, Kobd 9 8.5 ;ﬁné‘ wd HES* HENESHT) 28 DA
rom obh@ds, 14 DESDen HHdod. Wiyl & Do Sa8ai0 i::;ﬁ&ﬁm rebayen
383 (Qérges”)

(1) 210, 140 (2) 175, 200 (3) 245, 130 (4) 175, 375

18. A person travelled 12 km at a certain initial speed and then travelled 6 km at a speed

&
2
speed, the time taken by him would have been 20 minutes less. Then the time (in hours)

taken to travel the entir¢ distance with initial speed 1s
28 558 Fod @80z SKos* 12 8.00.00 HArB0DS TS, @rdod DKoLod Hobks

kmph faster than the initial speed. Had he travelled the entire distance at the increased

1
S 8.2, %S BKo8* 6 8.0, PBosrBomrd. € Ingo Erord) VoS Ko Hairedod

408, ©88 20 e S89,5 HHocHo HPEods. @ﬁjﬁ&a FEozs IK08°3 Ingo Srod)
PoSredosmds SPswo (Hobeds®)

(1) 4%. ) 4% 3) 5%' (4) 3.5

R 78



19.

1(}} 1,250 (2) 2,000

Booklet Code | B

ntoAand B atthesame time. After three years, Apaidit h;ck
and B paid it back with an interest of 10% compounded

Same amount of moncy is gIve
d by them is Rs. 46.50, then the amount (in rupces)

with a simple intcrest of 10% _
annually. If the difference of amounts pat

given to cach of them initially 1s

28 B2005006* HAFrSDS Fdoo) A $500%0 B o 0058
10% er&588° wddg BoamR) A H00050 O 10%
B0, T BYoDS Bngo Asme B0 46.50 w008, 08 284,08

Qs B0y (oD i

2800, SoTddd ST lens S

SESHS* wahy 0TV B a8n
oo’

(3) 1,850 (4) 1,500

20.

ate of 6% per annum for the

A person X borrowed some mnnc); for simple interest at the r :
% per annum for the period

first three years, 9% per annum for the next five years and 13
beyond cight years. If the total interest paid by X at the end of eleventh year is Rs. 8,160,

the money borrowed by X (in rupees) is
X 3 2.8 538 Fod S0y Fede S8, I S SoSGTrets i 6% SFEL0F I,

S8 o HoSHTOH I 9% 5§BLos"Sr 0005 NG JoSGTre SN0
5erd8 D 13% 34Bs'Sr olyr BhFad. HEFdS Sosdrrodod” X BYoDS
3ogo 3§ &r. 8,160 en wond, X wdym 81EY) 1oy (Grrohs)

(1) 10,000 (2) - 7,000 (3) 8,000 (4) 9,560

21.

If the simple interest on Rs. 1,750 for 3 years at 8% per annum is half of the compound
interest on Rs. 4,000 for 2 years at x% per annum compounded annually, then x =

Dead 8% 348" Sored Soddorot 1,750 srieR wdby 38, & x% & FOT
SESBD He3oDSHydd Bodd dodgorosy 4,000 Srien eadg ééﬂﬁ" Ko wond, wdykd

X =

Mm@ 10g ® 1 @1

22,

A sum of Rs. 1,600 is taken on compound interest at 20% per annum for two years. The
difference amount (in Rs.) between the interests calculated on annually compounding basis

and on half-yearly compounding basis is |
20% 05488 Bend® &, 1,600 o S0y SESGD ok DoSETrety SEI.

380 S03HTATEFE B oSmSH) 588, O v VoSKHTITEIFD B oISy 548
Sodghe Sgergdo Sy (Erdrche?) -
(1) 742.56 (2) 336 (3) 38.56 (4) 236.48
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23 AandB entered intoa partnership with capitals i the ratio : 5. Afier 3 months, A withdraws

4 of his capital and withdraws % of his capital. After 7 months from then, they shared

”}’3 profit among themselves. If A’s sharc of profit is Rs. 330, then the total profit
(in rupees) they have camed for ten months is

415 dasHe DrOSTOS A So8a5s B oo 2§ griidgsrgd) esdoDomd. Sochd

]
SO0 dlTd A egd oS0 L0d % 5 S0éd, B wdd Swrofso ob 5 &
S0H IS8 B0, BB H08 7 Ive $HITE, TH o) SosEa.
AT orgio 330 Briien. wond, 10Bee serds o BorBodSEndo oo (Erdrad)
(1) 800 ' - (2) 750
(3) 760 (4) 740

24" Aand B are partners in a business. A invests Rs. 12,000 and B invests Rs. 20,000. Out of a
total profit of Rs. 9,600, A receives 10% of the profit for managing the business and the rest
of the profitis divided in the ratio of their capitals. Then A’s share of amount (in rupees) in the

total profit is

&8 Trgardod” A S00cin B en ariarednen. A Dined 12,000 Srien So8asn Batnad
| 20,000 &ruew. dndo erzfo 9,§Dﬂ Erieodt, Fgrod) SHYSHHosHrsr oros®

10 &) A o DA TV T8 iPado IRAS* HowHEIK. wipd Indo

FoS* AFod i (Srdabe’) | |

(1) 5,400 (2) 4,200

(3) 3,240 | (4) 4,500

. L-J"L_:-

25. Ifaside and one of the diagonals of a rhombus are respectively 5 cm and 8 cm, thén the area
(in sq.cm) of the thombus is
2.8 éﬁiﬁi&}ﬁ;&ac Bng @8 ahedn Hoboin 28 ngg:’m SEHBM 5 Ho.a. Sobodw

8 0.0, wond, v dDTHRo BY, Togo (Sivord. o)
(1) 20 @) 24
.{3) 36 _ (4) 48
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26. The shape of a park is as shown in the i gurc below.
&8 GIERSS0, & 1808 HLodt HrdHS Erdost ¢ob.

20

20

Ifthe shaded portion represents the area covered with grass, then the area (in square units)
uncovered with grass is

28 BoDvwdS o, KA 5 A% 3Togod iR, wiyd K3S" E0dR s
G30E), STOg0 {zﬁn’.’::‘f.g}' oﬁwmgeﬁ"}
(1) 212 2) 102 (3) 198 4 52

& w'indow ‘is in the shape of a square surmounted by an equilateral triangle such that their
vertices coincide. If the perimeter of the window is 6 m, then the area of the window in

square meters is

28 888 e5do, SHEEBIND ROBOMT &3 o250 IR 28 SHrHo (Babesod
& Sodods 3E50en D&ﬁnmﬁa;ﬁéﬁn‘ @onN ErdosS* &od. B3k Ang), D8 6 Miwownd,
BE6Y) LS e §é38 B, ITogo '

(1) 1.43 - . W2y 2.06 (3) 2.68 (4) 2.88

28. Acube is built using 216 cubic blocks of side one unit without any gap in between, After
it is built, one unit cubic block is removed from every comer of the cube. The surface

area (in sq. units) of the resultant structure after their removal is

28 SR huINm Ko 216 DTTEY B3)s’ S5t e Bom 1€ Sowd)
VO, JTedn SHTE 550 RAE) P8 e Hod 28 LTS TSI
By Sohomd. 78 Fohodd SHads Dﬁ‘}&é Ao 00 BwE), GHbde ST0g0

(5. O’
(1) 192 . (2) 180 (3) 216 4) 196

—
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brick are 25 ¢m x 11.25 cm x 6 cm, then the number of bricks
8 meters x 6 meters x 22.5 centimeter 18

“8 RS Y, Fose 25 20.5. x 11.25 0.5, x 6 0.5, wond, 8 . X 6220. %
22.5 o.a0.e Sodey Kon3 a8 PG 0S8 seiond Qinie S0P

(1) 3,600 (2) 6,000 (3) 6,400 (4) 7,200

If the measuremenys of a
needed to build a wa)) ¢

30.

Ifa hﬂl_“isphﬂrﬂ, acone and a cylinder have cqual bases and equal volumes, then the ratio of
the heights of the cylinder and the cone is

28 SERYS0, 28 Fomd) H0050 2.8 Spdin SErS eEEioe 5B JErE 8
DOrered EBA 0B, Spvsw Hobcn fod Ko I

(1) 1:2 (2} 1:1 3) 2:3 (4) 1:3
] A

k-

A circular sheet of radius r is divided into four equal sectors and one sector is removed. It

, 3 th
is then folded to form a cone such that the perimeter of the base of the cone is [EJ of

the perimeter of the given circular sheet. Then the ratio of the slant height and base radius
of that cone 1s

r-;‘gaﬂgan* fo 28 3Fsly) 1€ aﬂmﬁ:- P30S DFST JPRoD), w8 RESD )
Sofom. WADS ) 28 FoHPT T By, rinFod, ST 8D it Sng

DURFOES 3 5 Sodoks HEFSIOM SoBlLy HETH. vy GBS ok @Y,

4
DbaTen I HoBosw Errgrgane g
(1) 4:3 (2) 1:4 (3) 2:3 4) 2:5

32.

The number of common solutions of 4x + 7y <5 and 2x + % y=28is

4x + Ty < 5 S08052 2;+%y23 o o 403 Fide SIeboly

(1) 2 2) 12 3) 0 (4) 1

W,
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33. If (v, 1 2) = (& B, 7) is the solution of the Simultancous Jinear c

v+ Ty+z=1 andx+y+:—:=0, then (M)+(ﬂ+?]=
4 o

quations 3x + 4y + 5z = =2,

XAy +32=-2, 2%+ Ty + 2= | $38050, YFY+220 08 35508 Wdrd HH08deross

(5, 3, 2) = (0, B, 7) &¢sis ®ond, SHATN (Ei_f{] +(ﬂ * ?’J =

4 o
L D @] ] (3) -2 4) 2
34. Between 8 O’clock elo : i
at 72° with cach Gth?;iio clock, when the times at which the minutes and hour hands be

8 hours !} min. and 8 hoyrs I, min., then htt,= -
8 fodrexn 00805 9 fodye L"m:&g,

QaddSres S.’me.itg S08a81 Hodses a0ex

72°0 Swo 31, S : VD LETNEE 2,588
4 _
g 20 S N000 1) A e 5o8ak 8 fobro 1, dpexs BoRSLYE
. 874 960 - '
(1) — Yy = 3y 18 225
11 @ 3 DEr @ =

357 Thetime between 2 O’clock and 3 O’clock ' o
; . at which the hang : -
line but in opposite directions is softhe clock are in a Straight

43— (4) 240, 422 o
. 11 11

HBSrEosty E-::c&::’mqoﬁw n 8 8%, BIYE 1 =

1 11 2 22 (3) 33 (4) 44

(T




" Booklet Cod¢ LB/‘

. o m whose averds
37. Theaverage weight of 45 students ina class is 52 kg. F1Ve ﬂfé};cht i< 54 kgjﬂincd the class-
48 kg left the class and another 5 students whosc avcragﬂr‘u:’hcgciaﬁ .
Then the average weight (in kg) of the present students O 3 fao S o KO
. e
L& SERBE'D 45 Sood Dmrgde Hitn 2B 32 4z, 505" 4 e oerstges 5
Stocs & BEKOD 550 YT, 54 Ede Bk VO fo S8 5{% é‘}ﬁ
o )
S5K8S* Bodk. Bhdo u FEKAS' GF) TR 580 20D
l
1 2 E (4) 537
52— 2 o 3) 5d— _
(1) 327 (@) 533 (3) 523 . 3
38 Ifa+b=1anda?+b2=2,thena® +b°=
ﬂ+b=1:}3'ﬂﬂﬁﬂa‘2+bz=2@mﬁi gﬁjiﬁj g5+£';5=
5
21 19 17 4) =
— 2) = 3} —
m = @ - ® J &
39. For any non-zero value of x,
l o - 1 + 1 o= I
1+ X2 +x 1+x2+x72 [+x 24X
x Gwg), @ HIgEs DenS3a,
] " 1 75, 1 _ ;
l+:-:2+:-:4_ |4+ x2+x 2 145 242" |
(1) 0 2) 1 (3) l+x2+xt 4) x*

{34+3? 3% 49"
40. If L and z=4/x+y,then 4(z*+3)=
34437 3297
== = - =y S08a»0 z=.~f.x+y @00, DT 4(z2 +3) =

(1) 100 ' (3) 96 () 576 (4) 108

B



A-2 Booklet-Code E

3125)5 0 3 3. Y
41. If[———] +('?EJ5 =_£T(ﬁ4)5,thcn e .
x % (15) 13
312513 = l 2
> (243)s 34 3 241
( +(——] =—(64)° wond. wsvg | F 11| —
. ) x (15)2( I el wages | =
(1) 25 (2) 37 3y L i 8
3 Y @ 3

_42. When a positive integer k is added to 3096, if the resulting number is divisible by 39, then
the least value of that kis

EPUS'G € 2.8 é&’:@{g“agu
Hxé DS

(1) 15 (2) 18 (i3)_' 21 (4) 24

kQ €958 ST HO Domg 393 eriodadd, VIV & kDB,

43. Ifrisarational number whose denominator exceeds Its numerator by 3 and if 5 is subtracted
; : : 2
from both the numerator and the denominator it becomes 3 theny=

&8 e¥dedad Somg r SR HE0 IR 0I5 LB 3 IS Bob BB % Bompg

' 2
AH oIlr, FES00 Bododd %08 5 EHIHT wb 3 VIHD0B. VLY r =

14 | 20 17 11
1 = @ 5 ®) o @ 1

3

1 1
_2{]_ 4 =~ —
44, IfT 142857 , then 0.00007

1 l
L 0.142857 ? _
7 008, elyd o

(1) 14.2857 (2) 142.857 (3) 1428.57 (4) 14285.7

LU 148
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45. Ifr1s the rational number which is the reciprocal of the sum of the reciprocals e

4 5 - :
kig 2 o _ . ; y is
numbers 5 and g » then thqdlgu in the fourth decimal place in the decimal form of

) 8
E’%é’ r,ﬁnéb OT0% SrHocst a‘?;ﬁ -:Savc-%égainn" &0o0 @woS

(1) 3 2) s - (3) 0 (4) 8

46. If the natural numbers g, b, ¢ and d, in the decimal system are given by a=XXaX3%4,
b= XgX3Xa X, €= X X2X3 and d = X3X9X) where X:ie1™ Ii-+ 1, i=1, 2 3: then the H.C.F. -Df
e and et 1S

9 .
Hre Jopgen a, b, ¢ 8030 d 0, ETodSrdos” a=xXX)X3Xy, b= x4x3%% ;
, : b—a

e =X XpX3 $0B8050 d = x3xp%; T &R S0k BIS* x;, =X+ 1, 1= 1, 2,3 wona,
ooty 226 o direm | i
1) 1 2) 11 - (3) 22 4) 33

47. If aand b are integers such that a® +b%-30a-20b+325=0, thenthe GC.D. (a, b) =

Fooses a,bes a’+b* —30a-20b+325=0 dbgar o8, ey 837 (4,b) =
() 5 (2) 10 (3) 15 (4) 20

48. - Ifthe L.C.M. of two integers both greater than 1 is 1517, then the sum of those two numbers is

1 508 283N Todd f.g‘q;ns'ﬂ £, 1517 eong, ©AYE & Botd VoPLL 200880
(1) 58 (2) 638 (3) 78 (4) 88

49, IfSx=4y,then2y:3x-=
5x =4y ®on8, edyds 2y: 3x =
(1) 15:8 @ 6:5 . () 3:4 @ 5:6

==

W e



| Booklet Code | 3

50. The L.C.M. of three numbers which are in the ratio 3 : 4 : 6 1s 144. Then the sum of those
three numbers is
3141685 &&) S JoPgo .00, 144, oy & Sarddy Sopge Iwngo
(1) 144 ' 2) 156
(3) 164 (4) 288

Directions for question 51:

The second figure in the first pair of problem figures bears a certain relationship to the first
figure. Similarly, one of the figures in the answer figures bears the same relationship to the first
figure, in the second pair of the problem figures. You have to locate the figure which would fit
into the blank space marked with (?) and give it as your answer.

51 @ﬂé& T s:

RBTEHL0S'Y 3088 2dSod Ko D@ OGS Todd BLBNSKH IndeHesnd o8 287
RO020GED Kok, BB, 2o I50OS D o€ DB0, VDL ) Todd 285

ANEEILE VBIESI0N oo §DA &od. (7) HAke @ LTIINS* J8DF & Do
EDHEYQ, @AY o dErerSom 75508,

517 Problem Figure :

ﬁ:&:&g 20

19 ]P0
Answer Figure :
fs:.f‘m' S0 :

@A Y A @
@) ®) © )
(1) A - 2) B
(3) C Co (‘:) D

LT 168
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| s52and 53
pased on the following sequence of numbers, letters and sym
,_gmﬁ 9;553}&‘5 POWIL, BESSne 538050 Sodore wEo SO0, a2 &30
4SETR0 RAGOL. _

A*BCATIYO@ESMPS2YT WK 9+UQ3 p&HSNIV7#IY

bols, answer the question
o5 53 BHO

- ' wed by a
;ﬂ‘ The number of diﬂtinﬂl 5}']]1bﬂ15 either iI]'I]'['lﬂdiﬂl]}' I’JI‘ECEdEd or lmlﬂﬂd]ﬂt]}’ fﬂ“t} Yy

number 18

8 SomgT IR0 Swoth Bod Bor BkoLS I eks00HE DPF $SSEVO
JoPg :

(1) 4 | 2 5

(3) 6 4) 17

};!( The 22™ element to the left of the 8 element lying to the right of ‘U’ is
‘U’ § $083die 85 Soreddnss Iyt 7225 Soreisn
(1) E 5 (2) 6
3) @ 4) 8
.

ers or letters, which follow a difinite pattern

i umbered 54 to 58, sequences of numb
In questions n , seq pr A

are given. Each question has a blank space. This has to be ﬁlleﬂ by the correct an
four options given to complete the sequence without breaking the pattern.

54 Si08 58 H8% He E’iﬁﬂé“ DoPFLOTA, wiorenmd); 2§ A0 SR (;‘:uga_}m ﬂ'éﬁaiiéaé.nﬁ
&) woEsre 2THH. B8 BHS* o8 g Golnod. EDNICH S8 FoKo Sursom,
¢ 9D DS T adFe 5008 HBLORS st Jrboard.

s&” 6,21, 52,105, , 301
(1) 124 (2) 138
(3) 154 (4) 186
§5. 75,105, 165, 195, , 285
(1) 215 (2) 225

(3) 235 {.;}) 755

R 17:8
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367 ABDH, BDHP, CFLX, DHPF, _

(1) INTE (2) EKNT

3) 'ENN (4) EISM
577 BEP,CJQ, DOR, FUS;;__

{1?’1—%}% (2) HEV

38 TRQ,PNM,LJl,____,DBA -
(1) EFH (2) HFE
(3) FEH (4) HEF

Directions for Questions from 59 to 61:

the _Ieﬂ side f’f (::). On the other side of (: 1), the correct answer is to be chosen from the given
options bearing the same relation that the pair of entries on the left side of (::) has and give it as
your answer. 2 N

39 Sod 61 38% Ke BHOH JomsS:

59 So0d 61 36% Ko BHa PHS' (2 1) I% ED 39S YD Cod> woFSne S 2.8 Q82
Q02050 &od. (::) 8 Bo&* SAS, 68 mt‘.’.bs'ﬂéﬁm& (::) S5 s SFIN o =28 vore S&Jcﬁsﬁu
V020Td) [BBDoDoTenm HO0S RIFTTR) 0HED, T B zgeom ascod.

59 BCR:L:: . 4
(1) FGQ : (@ KPN:T
(3) EE%Pq | '4) CDN:O -
£60° CIIF:3K6:: -
(1) DI12G:3L7 " (2) GI8K:8R7
(3) Cl4D:3M2 (4) E13H:5M8
] ¥
OT AE:26::10: |
(1) 286 (2) 296
(3) 306 @) 316

O  18m
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A-2 .
- 1 and 11. (Give

i ents
In each of the questions from 62 to 68, a question 15 ﬁ}][{}wcd by twO statem

your answer as
(1), if the statement I alone can give the answer to the question;
(2),if the statement I alone can give the answer to the question;
(3), if statements I and 11 together only can give the answer to the question;
) Jreang tion and additional

(4), if statements [ and II together are also not sufficient to answer the qucs

information 1s nceded.

62 So0d 68 SEH Ko B8 PHSSr, wE B So¢S Sol pisaeo =
p55s0 1 83 & BHS SSrerssnd aswond (1) ©d;

;‘3533 G700,

p5sso I &3 & BH% SZrEINBHOnd (2) ©d;
$5550 1, 11 030 BoBoBd SkEodd & Bi% siresdsgions (3) ©;

95550 L 11 o Bodr 08, RoF08 HErardsned &f), © BHS 2T SHBR ATOR
(4) ed; D JSrESSnm adcod.

627 Is the perimeter of the rectangle more than 65 cm?
(I)  Its length is less than 16 cm.
(II) Its breadth is greater than 10 cm.

© 8Y SSORIN HigFod 65 0.2 08 wHEST?
) o 269 1670.5 §oB 883,
1) =0 ey 10 0.5 %08 28, 3.

637 Isb>a?
(1) x+3isa factor of x® - 27°
() x-2isa factor of x2 - 4a”

b> aeHdion?

| 6 _ b '
n ) X =27 @y, o8 sderolsn x + 3

(HJ X —4g B0E), 2.8 s8erodton x -2

T

19-B
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S4. How many Sundays are there in that year?
(I)  February has 29 days in that ycar.
(I) The year starts on Saturday.

B HoSHTI0S'Y sBFES0en QN?
() o J038)55005" D56 o 29 Swoss LOH God.
N () & H038)850 93808 BosBIE.

£5. If—’fﬂ'*" XX+ +x) =8 and Xy = 3, then what is the value of S7
ToTXp+ X+ . +X)5 = SS50Bak0 xy =3 wowd, wHYE S Do), Dend Jod? |
) x,=5_ foru=1,2 .. 10
~ D) x.>0forn=1,2,...10

667 Is AABC right-angled?
AABC voa8'0 @2H255?
0 |A=2[B

7 2
(I (B =§._Q

077 Is a% of b equal to s% of ¢ ?

b &%) a%, t R0, 5%8 SSrSSr?
N (D atb=s+t

(II) ab # st

613.' What is the integer value of m?
nm Q0E), JTro8 Jend Joé?

1 S |
D —<—<=
. 7 2+m 2

AD  m?+24=10m

IlllllﬂllﬂIlllIII_IIIMI_Illll]llllNllllllll _

20-B
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(A) and Reasor

n each of the questions 69 1o 71, there are two statements la
_Choose your answer as -

(1), if both (A) and (R) are true and (R) is the correct cxplanmiﬂn F}_f(f’lﬁ *

@), if both (A) and (R) are truc but (R) is not the correct explanationt of (A);

(3), if (A) is true but (R) is false;

(4), if (A) 1s false but (R) is true. : .
69 5008 T1 568 o BHos* dpdEse (A), 5760 (R) w3 Bodkd HEBTOTHE:

(A), (R) &0 Dot $855HE, (A) Qg oG0S ISCE (R) wowd (1) &

(A), (R) @0 Bodir Hdgsahdr, (A) 08, BOFD 2560 (R) 55008 (2) ®;

(A) 385, 59 (R) wddgo wond (3) od;

(A) w5850, 0 (R) B&g0 wo0d (4) ©I; 0D Baod.

belled as Assertion

Lo

@9./ Assertion (A) : Inurban arcas, sSmog episodes occur frequently in winter.

Reason (R): - A lot of biomass is burnt in winter by people for heating purposc or 10
keep themselves warim. '
\ QB egR0 (A): S&e0 Lﬁ'ﬂééﬂﬂﬁ‘ 2 B0t BoSataden feinblan Bargrer e’
D0 DT00. | '

sdeo (R) : savsresnds® Haos, 38 Bokd IS S 708 IHOTQ) ey DoTRE
Jo& IS ES DErgSw (biomass) & ST '

70 Assertion (A) : The radius of a sphere is 3 cm. If the radius and height of a cylinder are
‘ 3 om and 4 cm respectively, then the volume of the cylinder and that of the
sphere are not the same. ; _

Reason (R):  The volume of a sphere is equal to that of a cylinder when the radius of

that cylinder is same as that of the sphere and the radius of the cylinder 1S

. 3th
2 of its height.

ARBegdn (A) 18 Aeo Q) Tgrgo 3 0.5, 2.8 NERo B0, TGRHR0 208050
ddawa HEBM 3 Do 508050 4 0.0 BoNE, ﬁ:‘gﬁm BTN
Fesno GBog DIH0STTes dSPSom Godd. ’

) s6mo (R): o8 dpdo Awg agdrdo, 8 A'do Qg o8 DSTSH _rHo
L o e o
QIE). TEAr i -
) Tggo TR QRS 4;5 208 wond ;’a:;;’;g S0, SHdSr0o,

o GA0E), WSDBSrerA8 DdrSo.

LR

21-B



4. Assertion (A): The sum of all internal angles in @ regular hex

Reason (R) :

BB (A) 1E ES0 Dy 08 wodd §'e
S0 (R): ¥ K% advha Gng, vodd oo 3080

.

The sum of all internal angles of @ regular polygon is
o Awdo 720°.

Booklet Code I B

agon is 720°.
(n — 2] T

2

(H'-?.)ﬁ'.

Directions for the questions from 72 to 76:

Three of the following four given options are alike in a certain way and form a group.

one that does not fit with this group and write it as your answer.
72 08 76 $6%0 Ko HHOE SriSs:
BILSS 2QS T aYsres® Kok, w8 JZR DEB0S* 2§ dDSwTohorr IGES . &
D00 H056Y Bor aHdd HYPEINDH HBoD TV W aTRT AF0E.

e

Identify the

(1) 30 (2) 15 (3) 21 “4) 36
‘? ’ .
/3/ (1) Guava, (2) Watermelon  (3) Papaya (4) Apple
(1) (2) orbd Do (3) HdHchH (-'-E:) WS
(1) 3,5,34 (2) 57,74 B) 7,11,160 @ 11,13,290
(1) (11,60,61) (2) (512,13)  (3) (724,25  (4) (9,40,43)
A8 |
(1) (N, 14) 2) (X,25) 3) (5,19 4) (P, 16)

yz."‘Nitish is standing in South to Anil and is in North direction to Amal. Amal is standing in
West direction to Sunil. Sunil is standing in South direction to Vishal, Vishal is in East
direction to Kapil. If Nitish is in West direction to Vishal and standing immediately after
him, then in which direction Kapil is with respect to Anil?
(1) South-East (2) - North-West
VEY, @IS SEromi SH8c%H BwSoSE GEEBIS"H Joad &I, DISEE HESHERFS
oS Joad G, ITSEE SEabiS* IS Jond ST, S1SE drddy B7S* S

& . DTSE IDNJobI JB0E 87S* BT Jond ﬁéﬁwﬁ}ﬂﬁjﬂa edS Sdorr

DS 2 BIS' Sa?
(1) shyodo (2)

Ec&n:&gc

(3) West

(3)

QB0

(4) South-West

(4) 360

T

22-B
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1ks 15 meters
rom the post

. Then, the
destination

' a

78 Starting from her house Neclima walks 15 meters to her west. Then she wF
to her right followed by 10 meters to her right to reach the post office- *
office she walked 12 meters to her left followed by 32 MCLCr® o et P

direction from her destination to her house and the shortest distance from her
to the post office are | -

(1) North-East, 4473 m (2) North-West, 20 m
(3) South-West, 44/73 m (4) South-East, 20m
208 508 B0HLIES DO W HEHS BIS' 15 Dedy SADRE. Sod BB 8N

508 BG 15 Dbty 38D, S So8) &5 HB E§S 10 DO SAY Srer w08
3008, drer shito Hod 85 D PHH 8D 12 HLE 39 S-S, 83 53
DS 32 Dowdy 58008, adyd B Aoy Fdo 0k B 208 PHI% Ko BF
HB0H0 B Koy Ao K08 EFor ek Ko 8P ERCO

(1) <&adgo, 4J73 . " (2) arosdgo, 20 2.
(3) 308, 473 . (4)  estyoso, 20 .

In a certain code, the ™ letter (n # 15) of the English alphabet is coded as 0 letter of it, where
ris the remainder when 5n + 3 is divided by 26. (For instance, the 7% Jetter G is coded as L since
57+ 3 = 38 leaves remainder 12 when divided by 26 and L is the twelth letter). If n = 15, take
r=26. The inverse process is used to decoding. Based on this, answer the questions numbered
79 to 83. - B |
28 JPRE'ES* wolf WESSTOS'A 1 d wgod) (n#15) rd egdon §°8 [, agd rvdb,
Sn+3 2 26 3 erhose $8) Fdo (eTdrde, 75 w8625 G L 86 376, Jotosod
57+3=383 26T grhonir I:ﬁ;, 3530 12 seHdo Hbasw 12 3 w¥do L 53dd). n=15
wond, r =26 m 35808, H IS'D QS &5 80oR8 &HArhord. B wgdor 79 Hod
83 5850 Ko HHeB 2T 3008,

/7‘5 The code for VICTORY 18
VICTORY § §'G

(1) IVRZYOX (2) IVRYZOX
@) INRXQZX (4) IVRYZXO

D AOERERO A 238
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86— The code for POLICE is
POLICE & 56 —
(1) EZKVRB —-KRBV
$) EZKBVR (4) EZ

§17 The one which is coded as YOUTH among the following options I3

8od adyses® YOUTH m 58 526858
~ (1) TRNAS
(3) XZDYQ

(2) TRANS
(4) TRNSA

: ' air of
82 If the code of a letter is its immediate succeeding letter in the alphabet, then the p

such letters 1s "
2§ vgbo B, 58, 0i8sros® ol 3H3oLd Shad 33y wibo wond, Wro

wiore = .
(1) LM | . (2) EK
) Y,P (4) S,F

83 The number of letters which are coded as their immediate preceeding letters, is

o8 S5m0 H0otHY) BETR), T°A & KOAS @5::*&5 Sopg
m o (2) 1 (3) 2 ' 4) 3

T m— T

%ﬁ”f‘here are 5 persons P, Q, R, S and T in a family with three generations. There are two
married couples in them. R is the mother-in-law of P; Q is not married to R; S is married to
T and T is the son of Q. Then the ratio of the male members to the female members of the

family is

Surddore S55e0k) w8 Sitnonos® 5 Sg&eo P Q, R, S, T dank. a66* Bodks
D>erd mobrenTon. P Bng), g R;R &' Q8 davdro °8; TS S & davoob
0050 Q A, H3rHE T. eiydh & Sivoadghged” HiTds, vda>od Syt
AL .

(1) 2:3 - (2) 3:2

3) 1:4 | 4) 4:1

L b
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.

. ven below:
; g glvﬂﬂ
. T . course are a:
The criteria for admitting a student in the first year of an engineering

The studentmust —
(A) have passed X1l standard in science group (strecam) with atlcast 80% m
(B) not have more than 20 years of age as on 1 August 2021

t.
(C) have sccured more than 90 marks out of 150 marks at the entrance {63

= hﬂ
iec1On charges att
(D) be able to pay Rs. 25,000 tuition fec in I semester and Rs. 5,000 admissi
time of admission.

[n the case a student fails to satisfy

eferred t
(): (C)above, buthe can pay atleast 60% of the stipulated fees, the case may bef
Admission Committee.

ferred to the
(1) : (D) above, but he has sccured 95% marks at XI1 standard, the case may be reie
Chairman (Admissions).

' i decision,
You are given the following cases as on 1% August 2021 in Q. Nos. 85 and 86. Give your

= : : i ion provided is not
based on the given information and do not assume anything. If the information p
adequate, mark ‘data madequate’.

%
2.€ Qo2dBofll FFENS'R B0ded :aaééaﬁo:ﬁ‘ 28 :ﬂcﬁ‘gg D3TRE Koy D208TH32 (50 250
.aéﬁd@aﬁ.

o the

85 ﬂn‘gg

(A) D) D (Deiso)est Endo 80% ;’Js'dagrﬂe‘.i* X[ $ 588 4883 &008).
(B) 2021 &k 15 88088 20 Dosdore $cdy)s Mod Sodsrddo.

(C) B9568s* 150 & o 90 & Dod Sy e BIYER wowd.

(D) I 20H8S* S'Ga dododn o 25,000 508050 PIF $50c0d” 8RS Then
[
(635 Goosm) . 5,000 BYosKdR owd.

2,8 RY 2.8 ;lcs*,gg'

(I): D5 adyd (C) é;ﬁ;‘&ﬁﬁéﬁjéa, m'gaoa;ﬁ Erdsnost b0 60% éégﬁaﬁé, 8 AR
(3% sé8 doTs.

(AD): s 2 (D) pddussyd, XIS S6586% 95% Srdqen $9) wol, & dAcird)
368 (Sdre0)s JdBORG.

85 So00%0 86 PHo* 2021 sy 15 BOHTS Bod Hosoyeo M [SgRTTOR. REGITED

Srodor, alyd ddraoR) wgrbor BED, D A BoHhod. QNS ddrTdo
dndod BIHYE DSrrbo H0HI0d Bk’ K MHYosod.
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/&5./ Student P born on 25™ September 2001, sccured 85% and 65% in XII standard in science

strcam and at the entrance test respectively, Also he is in a position to pay the requisite fees
and admission charges,

(1)  Admit (2) Refer to Admission Committce
(3) Donotadmit (4) DataInadequate
P w3 Darggllijﬁ o6 2001 & EE}&GDE X1l 85586552 ) Do i, @37 HOES

JBD™m™ 85%| Sodasn 65% %ﬂ,m ST, wodmg DYoSS NS e, E:&‘éﬁﬁ
TRO% ELROA 185 eIk,

—86.

(1) e8)s S0 (2) ©&AS EdE Bord
(3) wBYS B Erass (4) SSnardo BOHEHSOSEE
Student Q born on 20™ July 2000, secured 85% and 75% at XII standard with science
stream and at the entrance test respectively. Also Q can pay the requisite tuition fees and
the admission charges '
(1) Refer to Chairman (Admission) (2) Admit
(3) Donotadmit (4) Datalnadequate
Qog8 Qerd 20,2000 ?"‘;}ﬁlé’aﬂx XM 8185° 2 Do’y P4 H6ES S SKodm
85%, 75% S>dape0 YT ) ©II6T0F D, ©HAS Fhen D907 RBS* Q .
(1) oggd (H3zen)s 23800 (2) ©8)5 S0
(3) @&)i5 VI Erdsd (4) JSrardo H8H&SEB S

Five persons A, B, C, D and E sit around a round table such that al] are facing the centre of
the table. A is diametrically opposite to E; C and D are neighbours of A. If there is only one

‘person D to the right of A and to the left of E, then a possible order in which they sit is
266 35500 A, B, C, D, E oo 2§ K01 B otoy & 26 Sossnisss oDsmpor
ST, oS A, E o oo 054, C 00 Des AGnE, 2668 ¢amb.

A8 58 5% S Sobosw E8 dd ©%)S &) 558 D mﬁbﬁ ZoNa, BOYE 5:-‘{1) ﬁrﬁasﬁﬁaﬁ:&
28 |EDo. . ‘
(1) ACEBD _ {%} ADEBC

. (3) ABEDC (4) AEDBC :

AR s



geven persons A, B, C, D, E, F and G stand inarow as
/s',ﬁ( i Gis between Aand E

(i) F and A have onc person between them

(iii) EandC have two persons between them

(iv) D is to theimmediate right of I and

(v) C and B have thr'::t; persons between them

The second person from the left 1s

A, B,C, D, E, F %800 G o3 & 55830
(i) A, Eo% 265" G aa®

(i) F,A o $858 of 558 605H

(i) E,C o S855" gt S &amdd
(iv) F8& S0 %8 H&S D il

() C,B ok $gs® snmse $58300 &I
DB (%, So0d Bo& gy

A
(1) C @ G- 3) E . e
% Wi i el in Andhra Pradesh.
9. Consider the following ranks of police personn ‘ =
(( (A) Inspector General ‘i (B) Director Genera . |_
(C) Superintendent (D) Deputy Inspector encrd
(E) Deputy Superintendent | (F) Canstab?e:

(G) Inspector )
SOBHBTS'R & B BYS % GE'gHe g0 808 08.

(A) ags 2565 (B) @oE6 =dsS

(C) %rHdoBodoss (D) airgs sRE6 2385
(B) adrgd wddoBodod (F) E"Fﬁ%mﬁ _

(G) =3Es

The correct sequence of the ranks from the highest to the lowest cadre 1s

widgHE Fow S00d ©d &5 ﬁﬁ'a}: L85 GoB Tguéaﬂé& DB Edoo
(13 A,B,C,D,E,G,F (%} BADCEGF
(3) B,A,C,E,D,E,G (4) A,B, c:,/fs, D,G,F

| /
L. 7.8



(A-2 Booklet Code B

Answer the questions 90 to 94 after carcfully reading the fﬂllc}}wng information
Five persons A, B, C, D and E arc as follows:

(a) Eisintelligent than D but do not get as many marks as D.

(b) Cisintelligent than A but not as intelligent as B.

(c) A getsmore marks than D but not as many as B.

(d) E gets less marks than C who gets less marks than D.

(¢) Eislessintelligent than A. :

8od HrTo) W™ S8, 90 0D 94 366 Ko HHOH 2Ty
2O Sgfen A, B, C,D, E en 808 dorr ¢amd:

(@) D508 E893553 50 D 20853 Sriiy,e0 SFosBSed.

(b) A o8 C893558 52 B wod 3OSy 5.

() D&oB Adsys Srdpen Fodherd 59, B 20859 s76o.

(d Dol d¥yS Srd e Fod C $od, qos &59,5 ;’i:r“d:a,um E Srodoaio.

(€) A08 E &8%9,5 80350,

'

907 The person who gets least marks is
w8508 S80S Srdyeo Fod S58 |
(1) B 2) C - % (@ D (4) E

}T/ The person who is mtelhgent than all the others as well as the one getting the highest marks
is
DADS woc5dE0B BOIITE ¥ wESHS Srdy o rm od S8
(1) A (2) B (3) C - - (4) D
: »

If all the persons stand in a row according to their ranking in intelligence, then the person
exactly in the middle is '
892 8Lod® Trgofie Brdorr @wod ;’agéam 28 SIS JewitHod, Sormr Sogges®

&od g8 .
OR @ B B3) C (4) D

93. The person exactly in the middle, if all of them stand in a row aﬂcnrdmg to their rankings in
the marks is |
S o 28 708 513‘}55 orsofe o THoBEr 28 SKHISH Qexyod, Edormr
.‘.‘i::ésa’i‘ &od g8

(1) A 2) B - 3) C @4 D

AN 285
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96/ he person who is the sccond ranker in intelligence and the fourth ranker in getting marks
c 3

is
390dLed" 808" T8I, Srdy o dodlod’ Tenls 0508 fio Sg8

1) E @) D (3) C (4) A
—

Dircctions: Fill in the space marked as (?) with a suitable natural number from the given options
in each of the questions 95 and 96 and writc it as your correct option.

43d: 95 SoB0S® 96 BHOS (?) 8" HBoDS ), BB dire & Sopgs* at)d mﬂxs‘q:&m&
905, e 2 ﬂﬂ@aé mﬂ‘:}gnn‘ oro00d.

o

121131 11 23| 21 | 41 29 | 17| 35 334319
12 39 23 ?
(1) 62 2 39 (3) 29 (4) 27
)
..l 4 7 12
5 6 9
(1) 9 @ 12 3 15 (4) 16

Read the information given below and answer the questions numbered 97 and 98..

A cube of edge 8 cms is painted green on‘all its faces and then cut into smaller cubes each of
edge 2 cms. The smaller cubes so obtained are separated.

& (8od HIrTdo BB, 97 HoBE 98 BHOL BTWOKNY,

8 200.20. sothife a8 550 @0E), v SNFOR BHDY) SoiHd® Donoln BN & SHard
GAD 2 20.2. wo KOS DF) DSSweor SR, aty SIS DF) DTS IHTID.

,9f"7r he number of smaller cubes each with three faces painted green 1s
BT Boog), Sardd Sogren wds) dod Jchwdd IN) DIe Sopg
(1) 4 2) 8 (3) 16 (4) 24
"

LT 20.8
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98. Thr.: number of smaller cubes with no face painted is

) SIS Sory SHhoa God DY) DT Jopg
(1) 6 (2) 8 (3) 12 (4) 16
r‘

Data for questions 99. and 100 _ i :
Seven persons P, Q, R, S, T, U and V teach seven different subjects: English, Hindi, Physics,
Chemistry, Biology, Sanskrit and History, from Monday to Friday. Not more than two subjects
are taught on any one of the days. | 5
Chemistry is taught by Q on Tuesday. S teaches on Friday but neither English nor Hindi. U tcac]j::s
Physics but neither on Thursday nor on Friday. P teaches History on the same day on which
Physics is taught. R teaches Biology on Monday. English and Chemistry are taught on Tuesday.
V teaches on Thursday.

99 So0csn 100 BHos devodo: |

DG Sg%en P,Q R, S, T, U $005n V en Hhardo $08 HETG0 365 b Idhdd
SPR FOJH. I woffsn, rob, FAETRo, SFHIE TRo, £ TFo, SodySo Bk
OIS, o 28, 8wl Sodo g0l Q8D JPKosH S HoW.

Sooi¥Tdo Q EFcHIE TRo SBAk. S HETEo eﬁ‘&ﬁ'dﬁ& ©o0d [ofmr, rodmd
&' Do, Ueﬁ‘aﬁ-s'l:ao QI eond DO Gorrd, E}[{é‘a‘.’u‘{inn’*m S Qorih. ﬁ‘ﬂﬁ-—:—"@u
5°Qod &SI P S8 Spandko. FSoTBomds R 25750 '@, Sookdado 200
508050 ﬁﬂ*:‘cﬁamﬁa'l:‘o S'Qodadaron. V hdhardo ¢S iﬂiﬁ'&:&.

(9'- Which of the following pair of persons taa-::h on Tuesday?
& 1808 TS° Q = SgHe0 JoR¥Tdo S HIE?

(1) ST (2) QU () T.Q (4) R,T
J00. On which day, Sanskrit is taught?
~ (1) Thursday | (2) Friday

"(3) Tuesday ' (4) Saturday

o) &2, 2o ¥o T RodtE0H? |

(1) Hdado {%) HETEo

(3) Sooddardo (4) #d>8o

n[n[ululs

T
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